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Challenges

QID : 201 - Select the related word from the given alternatives.
Tongue : Taste :: Nose : ?
g 7Tq faemedt & § Hefdq ez @t gl

Sfier: T 2 ATeR : ?
Options:

1) Smell

T

2) Face

KU

3) Touch
st

4) Chin
et

Correct Answer: Smell

e

Candidate Answer: Smell

e

QID : 202 - Select the related letters from the given alternatives.
FDH:LJN: RPT:?

g g faemedt # @ deifda sreri @l gl

FDH:LJN: RPT:?

Options:

1) XYZ
2) WUY
3)Xvz

4) SUV
Correct Answer: XVZ
Candidate Answer: XVZ

QID : 203 - Select the related number from the given alternatives.

39:52::51:?

g 7Tq faeredt & & Heifda g &t gl
39:52:51:?

Options:

1) 53

2) 40

3) 68

4) 38

Correct Answer: 68

Candidate Answer: 68

QID : 204 - Select the odd word from the given alternatives.
g 7Tq faehedt & & faww 21 &l gl
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Options:
1) Nylon
BIECIC]

2) Wool
A

3) silk
R

4) Cotton
HU

Correct Answer: Nylon
BIUCIC]

Candidate Answer: Nylon
BIUCIC]

QID : 205 - Select the odd letters from the given alternatives.

g 7Tq faenedt & § fawe s1ert & gl

Options:
1) ZXV

2) GDA
3) NKH

4) URO
Correct Answer: ZXV
Candidate Answer: ZXV

QID : 206 - Select the odd number from the given alternatives.
fog g faemedt & & faww dwe@m &t gl

Options:

1)15

2) 20

3) 40

4) 60
Correct Answer: 15
Candidate Answer: 15

QID : 207 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.
Pension, Aptitude, Captain, Tropical, Survive, ?
ek 3rgehH e e &, o wen 2ree e &1 Ry Y Risvedt & & a8 9t fiched 9T St aigehd Y oR1 R

Pension, Aptitude, Captain, Tropical, Survive, ?
Options:

1) Parrot

2) Apply

3) Trap

4) Tetrapod

Correct Answer: Tetrapod

Candidate Answer: [ NOT ANSWERED |

QID : 208 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
DEC, HIG, LMK, PQO, TUS, ?

e SR e T 8, e e ue g 81 Ry U Rieeat § @ ag a8t e 9 St e @

DEC, HIG, LMK, PQO, TUS, ?

Options:

1) XYZ

2) WXY

3) XYw

4) YZA
Correct Answer: XYW
Candidate Answer: XYW
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QID : 209 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
100, -20, 4,7, 0.16, -0.032
ek STeRH foam ma §, Fores ua S g 1 ey T faeheat & 9 a8 et fadhe g STt S1ehd aht O R

100, -20, 4,7, 0.16, -0.032
Options:

1)0.8

2)1

3)-1

4)-0.8
Correct Answer: -0.8
Candidate Answer: -0.8

QID : 210 - Chirag's birthday is on Thursday 15t June. On what day of the week will be Reyansh's Birthday in the same year if Reyansh was born on 3'd December?

ORI T SPAfA T&aR 1 57 &1 81 afg Rair o 577 3 fider ) gor ur dt 35t avf Rair a1 sfes warg 7 forg &1 ghm?

Options:

1) Wednesday
JYUAR

2) Sunday
fdar

3) Friday

Q\I

4) Saturday
RIEEIN

Correct Answer: Sunday

Candidate Answer: Sunday

QID : 211 - The weights of 4 boxes are 20, 40, 50 and 30 kilograms. Which of the following cannot be the total weight, in kilograms, of any combination of these boxes
and in a combination a box can be used only once?

TR Fert T gt 20, 40, 50 3R 30 fhahumm 81 FfafEa # § get & foreht off Taie @ gt g, fohelum & &lF I A8 g1 FerdT § SR Uen T=Tei § Qb 9ol Uah & IR WA &
SATIT ST GehdT &2
Options:

Correct Answer: 130
Candidate Answer: 130

QID : 212 - From the given words, select the word which cannot be formed using the letters of the given word.
ORDINALS
frfafed et § @ T wrea gAY it g 1Y 21ea & 18T o1 TRINT ahvch 81 ST ST SehdT:

ORDINALS
Options:
1) DINAR
2) ADORN
3) SALON

4) IDEAL
Correct Answer: IDEAL
Candidate Answer: IDEAL

QID : 213 - If QUICKLY is coded as OSGAIJW, then how will HUE be coded as?

afé QUICKLY @t fareht st & OSGAIJW forar STrar &, af HUE &t St et & o forar Siraem?
Options:

1) ZMA

2) FSC

3) HZK

4) HNI

Correct Answer: FSC

Candidate Answer: FSC
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QID : 214 - In a certain code language, '+ represents ‘X', - represents '+, 'x' represents '+ and '+ represents -'. What is the answer to the following question?
42x7+7+9-62=?

fondt ot WTUT &, '+ T Aded 'X' &, - T Adeld '+ 8, 'X' ol Adeid '+ & 3R '+ ol Aderd - &1 FRfafad ust e SR e &2

42x7+7+9-62=?

Options:

15

2) 87

3) 22

4)2
Correct Answer: 5
Candidate Answer: 5

QID : 215 - If 17@1=8; 9@1=4; 6@4=1; then what is the value of 8@2=?

It 17@1=8; 9@1=4; 6@4=1; At 8@2 = ? H 7 T HISA|
Options:

Correct Answer: 3
Candidate Answer: 3

QID : 216 -

Select the missing number from
the given responses

o a1 famedl 7 @ o

e giAv|
23 | 114|204
45 | 25| 36
68 |89 | ?

Options:

1) 157

2) 168

3) 21

4)15

Correct Answer: 168
Candidate Answer: 168

QID : 217 - A truck travels 36 km North, then it turns West and travels 9 km, then it turns South and travels 50 km, then it turns to its left and travels 9 km. Where is it
now with reference to its starting position?

Teh g 36 fon.#fY. SR Al o7 ST 8, iRk I ufyw &t ok g ST1ar & 8k 9 R+, Ie Sima &, iR ag afaor & ik g S1rar & ok 50 o+t aes S1rar 8, O ag oo o ik g e
& 3R 9 for.#ft. qo ST &1 g Srut UiV Y @ o9 wvgt &2
Options:

1) 14 km North

14 fh. . IR

2) 86 km South

86 fo5.#f). =fgor

3) 86 km North

86 fop.#ft. I

4) 14 km South

14 5.7, =feor

Correct Answer: 14 km South

14 5.7, =feor

Candidate Answer: 14 km South
14 fo5 =t gfgor
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QID : 218 - In the question two statements are given, followed by two conclusions, | and Il. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : Some clever are intelligent.
Statement 2 : No intelligent is Smart.

Conclusion | : Some intelligent are clever.
Conclusion Il : Some smart are clever.

uy § &l HF 33 ma § S ot gt s | ok 1| et T3 €1 siuent AT € 136 S e I € TTg a8 ITHTad: AT a2 § 9 el gl 811 siuent fRvtg ke & Y g e
el & @ S-a1/a-8 RfYd 0 @ FuF gR1 el FehTer ST gehdT &/3hd 8, afe His gl

HYT 1: TS TR FGaH &l
&Y 2: S o gigar SRR T &

e I: o gigam IR &)1
e I1: 3o SRR IR 81

Options:
1) Only conclusion | follows
| gl 8

2) Only conclusion Il follows

hadt fasae || TEt &

3) Both I and Il follow
ST e | oz 11 TiEt @

4) Neither I nor Il follows

1t freenef | gl & 1 81 Fsemt |1

Correct Answer: Only conclusion | follows

e sy | w8l &

Candidate Answer: Only conclusion | follows

e sy | w8l &

QID:219-

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

Prfaf@a 3o mpfa & @ Fla @1 o5
Rrawwa sl A g oa &
FATAT AR ST JFAT?

OIO1H
L]
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Options:

4

Correct Answer:

...O

Candidate Answer:

QID : 220 -

In the following figure, square represents Dietitians, triangle represents
Botanists, circle represents Psychologists and rectangle represents
Indians. Which set of letters represents Psvchologists who are not
Botanists?

FafaRad omefa & & ER R @l eiar g, TSl @
STaT &, I FHIRI-Id! Bl GRS SR S oI gRiaT gl
e &1 B U1 JHE Flag-d! & G & il FIafag el 82

m
AN F
B

&

)
/e

Options:

1)D,GA

2) ABC

3)FEC

4)H,B,D

Correct Answer: AB,C
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Candidate Answer: AB,C

Qip: 221-
Which answer figure will complete
the pattern in the question figure?
Frafaf@e & & Fa-al seaw e wea
e & wfees & qu &

Options:

1)

2)

3)

4

Correct Answer:

Candidate Answer:
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QID : 222 -
From the given answer figures, select the

one in which the question figure is
hidden/embedded.

& a1 e angfot F & 3w wfa w1 9w
et weat amefer @fea 8

Options:
1)

2)

3)

>
>

Correct Answer:

7l
ALY

Candidate Answer:
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QID : 223 -

A piece of paper is folded and punched as shown below
in the guestion figures. Fram the given answer figures,
indicate how it will appear when opened.

9 HIFfAT # CET W e
AlsH 3FH O H AU Wod F ag 98
v 3eat ampfa Sar g &em?

AN/ARIN

o A% N oMo

Correct Answer:

oo

5 8

O
Candidate Answer:

Qo

5 g

0@
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If a mirror is placed on the line MN, then
which of the answer figures is the right image
of the given figure?

of% ve gdor FF MN Y& O @ ST dr &
Ioo) IMpfadl 7 W Fi-H InFTa A I

&1 g ufafars gefr?

M

Options:
1)

2)

=

/’

“\

Correct Answer:

“\

Candidate Answ

“\

er:
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QID : 225 -

A word is represented by only one set of numbers as given
in any one of the alternatives. The sets of numbers given
in the alternatives are represented by two classes of
alphabets as shown in the given two matrices. The
columns and rows of Matrix-1 are numbered from 0 to 4
and that of Matrix-1I are numbered from 5 to 9. A letter
from these matrices can be represented first by its row
and next by its column, for example 'K' can be represented
by 20, 34 etc and 'Z' can be represented by 67, B8 etc.
Similarly, you have to identify the set for the word "PURE'.

UF M FAG UF HEA-OAF eOW @i wmr E S
fowedt & & Bl oF & fer @ @) fawed & T A
Hem-ap et & & it gEmr e v E S f Ru
T g wemEr # ¥ aeged ¥ wew v ofFw f we
0 F 4 3R amegEll # 5 F 9 ¥ 5 gt § Uw
Fr uger 35 dfeT A A F FoEw we gEn e s
T &1 IEgoT & T K @ 20, 34 3nfy gEm v S
FHar & T 2 @ 67, 88 e T@Wr ST I wEer ¥
i W ¥ E WA A BU weE PURE § AT wRp

F O £l
Matrix| Matrix Il
ELz HTEE -1l
“Joe[1]2]ala] “[slel7le]9]
o [ K D oG 5 T v u R
1| A 1 F E 1 6|Qjujlz h T
2 k(e lulrla 7lvivixlaln
1|p(6|mMiclk glylmix|zp
4 c|LiH|1le ginjuv|rT|vie|
Options:
1) 89,96,86,13
2) 34,34,56,79

3) 41,44,67,96

4) 01,10,79,57
Correct Answer: 89,96,86,13
Candidate Answer: 89,96,86,13

QID : 226 - In a market system, the central problems regarding how much and what to produce are solved through the coordination of economic activities brought
about by signals.

ISR 5 H, I HIT TS BT GAT fohd a¥g o1 SR forg AT § IcureH R S 8, & 5761 dohdll & gIRT §1 S1ifien fohamehettal & wiwag & giat &1
Options:

1) Supply

armfet

2) Demand
in

3) Price
fa

4) Stock Market
PR TSR

Correct Answer: Price

Qandidate Answer: Demand

HiT
QID : 227 - says that the marginal product of a factor input initially rises with its employment level. But after reaching a certain level of employment, it starts
falling.
gaT & fob T IUTE I R AT URH & TN & 1Y FgdT TR &, STd AN & TN Bl &R = 81

Options:
1) Law of diminishing marginal product
B HHid I e
2) Law of variable proportions

SuTa fa|
3) The Short Run
SfeTehTeT
4) The Long Run
Eiefepter

Correct Answer: Law of variable proportions

Rt sruTa
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Candidate Answer: [ NOT ANSWERED ]

QID : 228 - Constituent Assembly of India was founded in the year

aRdrg dfaum g ey rfie gamam

Options:

1) 1940

2) 1946

3) 1947

4) 1950

Correct Answer: 1946

Candidate Answer: 1946

QID : 229 - Which Fundamental Right in the Indian Constitution allows citizens to move the court if they believe that any of their Fundamental Rights have been
violated by the State?

TR T & forg wifcres sifer & wer ma & & afg el aiRes ) o & fon T g Iuh fonelt Hiforen S1fdenR ot Seetar gor & oY 59 SR ol TgRT A 98 SfaTeld § S
gopaT 87

Options:

1} Cultural and Educational Rights

iepfcen 3R Aerforen sifder

2) Right to Constitutional Remedies

ga AR HT

3) Right against Exploitation

MoT & a3 SifdeR

4) Right to Freedom of Religion
AT T AARR

Correct Answer: Right to Constitutional Remedies
fenfeh IUAR H1

Candidate Answer: Right to Constitutional Remedies
Gaenfeh IUAR AT SRR

QID : 230 - During their rule the British persuaded or forced cultivators in Punjab to grow

SO RME o SR SfIST e &t ootmer o I & folg AT aRd W@
Options:
1) Jute

S
2) Tea
Bl

3) Sugarcane
el

4) Wheat
qurect Answer: Wheat

Candidate Answer: Jute

S

QID : 231 - The Red fort in Delhi was the residence of emperors of which dynasty in the 16th century?

164t 2TaTed! H ot 1 @ret fohett foh Irotdr o *merent @t ey ur?
Options:

1) Rajput

ST

2) Khalji

et

3) Tughlug

GUSED

4) Mughal

qme

Correct Answer: Mughal
qme

Candidate Answer: Mughal
qme

QID : 232 - India has a land boundary of about _______ km.
IR <hY TreT AT T AT fretiez 21
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Options:
1) 5200

2) 10200
3) 15200

4) 20200
Correct Answer: 15200
Candidate Answer: 15200

QID : 233 - The Patkai hills belong to which mountain ranges?
veehd ygifeat bt udd sjaetaif & wwifdd 82

Options:

1) Himachal

IRLICE]

2) Purvanchal
3) Himgiri

4) Hindu Kush
%%@QT

Correct Answer: Purvanchal
Candidate Answer: [ NOT ANSWERED ]

QID:234-RBCs areformedinthe______in the adults.

T SR TG (STRee) F et £

Options:
1) blue bone marrow

e oY Troe

2) red bone marrow
AT Y FooT

3) white bone marrow
A A Ao

4) black bone marrow
I AR FowIT

Correct Answer: red bone marrow
TeT 31T ToeT

Candidate Answer: [ NOT ANSWERED ]

QID : 235 - The later (second) formed primary xylem elements are called

e H (GER) T aTct ATAfAes STTged de &t FEd 8l

Options:
1) Protoxylem

2) Metaxylem
ReToTTges

3) Xylem parenchyma
Srgers GReentgHT

4) Xylem fibres

STEeH dg

Correct Answer: Metaxylem

Candidate Answer: Xylem parenchyma
Sige™

QID : 236 - Which of the following does not hold true for Animal belonging to Phylum Chordate?

TH @ D 1 T Toulch! § Feifdd SRt & forg gt A8t 82
Options:

1) Notochord present

U8 Tog] SUfd gaT &

2) Pharynx perforated by gill slits.

7o B e &g g ot €

3) Heart is dorsal (if present)

€T 8 9T & i1 & (3R U )

4) A post-anal part (tail) is present

Tah a0 I &

Correct Answer: Heart is dorsal (if present)
§&d UB AT H gidT § (3R Ul 8)
Candidate Answer: [ NOT ANSWERED ]

Download More Papers From www.GovtJobsAlert.In



Download More Papers From www.GovtJobsAlert.In

QID : 237 - In science a push or pull of an object is called

formm # fomeft a¥g wR SifHeor AT SrueRyuT Rl hEd &1

Options:
1) Pick

T

2) Lift
ISHT

3) Force
q

4) Shut
§¢

Correct Answer: Force
el

Candidate Answer: Force
el

QID : 238 - There are how many vocal cords in the human voice box?
Options:
1) One

T
2) Two
at

3) Three
Gik

4) Four
IR

Correct Answer: Two

Candidate Answer: Two

QID:239-Theattribute______ specifies (in pixels) the distance between two adjacent cells.
RSl & < St & drer oY g st & (Rvererer ) 1

Options:

1) Width

EISH

2) Height

CEIE

3) Cellpadding

Jerafe

4) Cellspacing

Yo

Correct Answer: Cellspacing

Candidate Answer: Cellspacing

QID : 240 - What is the name of the acid in an ant's sting?

& & Sop T U T ATl 37T i T 82
Options:

1) Acetic acid

e st

2) Citric acid

913 Eﬁ 31T

3) Formic acid

hifHes T

4) Lactic acid

dfaeen et

Correct Answer: Formic acid
iftien ST

Candidate Answer: Formic acid
iftien STt

QID : 241 - Which base is present in soap?

TG H I T &R UTaT ST 82
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Options:
1) Sodium hydroxide
IS gregress
2) Silicon dioxide

CIESESIESY
3) Calcium hydroxide
FHfRTIT gESTES

4) Ammonium hydroxide
EESIESIES]
Correct Answer: Sodium hydroxide
e grEgress
Candidate Answer: Sodium hydroxide
EESIENIES]

QID : 242 - Any undesirable change in physical, chemical or biological characteristics of air, land, water or soil is called?

g, A, STt a1 a1 & s, Tamrafie a1 Sifaa fceron # g1 arel Ges s uRadd ___ ahgarar al

Options:
1) Greenhouse effect
uqEg

2) Solid wastes
Rl

3) Pollution
e

4) Deforestation

Correct Answer: Pollution
B
Candidate Answer: Pollution

T

QID : 243 - scheme was launched by the Central Government to create awareness about the cleanliness of the children.

Fg RARGRISTRA AT ST o7 3227 S=al o Wesal & IR B SIFRechdT 30 ST gl

Options:
1) Sukanya Samridhi Yojana
g1 G

2) Bal Swachta Mission
7ot TWeadT [AIH

3) Pradhan Mantri Jan Dhan Yojana
YT S o FoT1

4) Beti Bachao Beti Padhao Yojana
E TS A veret gt

Correct Answer: Bal Swachta Mission
1o el AeH

Candidate Answer: Bal Swachta Mission
1o el AeH

QID : 244 - Who discovered the colour photography?

affe ik Y @i fohem A
Options:

1) Robert Noyce
Aaé g
2) Enrico Fermi
3) John Logie Baird

T AT SIS
4) James Clerk Maxwell
Correct Answer: James Clerk Maxwell

FAT AeTae

Candidate Answer: [ NOT ANSWERED ]
QID : 245 - Who was the host nation of 2014 FIFA World Cup?

2014 T fa% &Y a1 ASTaT 27 I 9T AT?
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Options:
1) Argentina
ST

2) Netherlands
Hrezde

3) Germany

S

4) Brazil

Elic)

Correct Answer: Brazil

Candidate Answer: Brazil

QID : 246 - Jama Masjid of Delhi was built by?

Rt & s AT o1 fAmfor foham avamar ar?

Options:

1) Akbar
cheR

2) Humayun
ElalicS

3) Babar
STeR

4) Shah Jahan

<TG T8t

Correct Answer: Shah Jahan
<TG T8t

Candidate Answer: Shah Jahan
<ATE T8t

QID : 247 - Which of the following won the Oscars 2017 Best Picture?

fafafea 3 @ e av 2017 o1 ad9s fOher a1 Sifem [REhR fAer?

Options:
1) Lalaland
SIKIES

2) Moonlight

L SNIES
3) Arrival
IRTZaA
4) Fences

Correct Answer: Moonlight
Candidate Answer: Moonlight

HATE

QID : 248 - Which of the statements given below are correct?

1. The author of the novel 'Half of a Yellow Sun'is Chimamanda Ngozi Adichie.
2. The author of the novel 'Middlesex' is Jeffrey Eugenides.
3. The author of the novel 'Missile Gap'is China Mieville.

A 8 ™ ot A @ Rl & T 98 87

1. IUIT "gTh ATk 3F Jelt T & e fmATHer et smfe=h &)
2. I "AfEaded’ & aadh S fed &
3. I "ATEe AU & ka1 fAgfae &1

Options:
1)1 and 2
18R 2
2)2and3
23R 3

3)1and3
18R 3

4)1,2and3
1,233

Correct Answer: 1 and 2
18R 2

Candidate Answer: [ NOT ANSWERED ]|
QID : 249 - Which company acquired LinkedIn For $26.2 Billion?
frg shu=t 3 $26.2 fRforge SR & Riareg @t Srfdugor fakar a1?
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Options:
1) Apple
g
2) Facebook

3) Microsoft

ATEhIETE

4) IBM

Correcs Answer: Microsoft

Candidate Answer: [ NOT ANSWERED ]

QID : 250 - Which of the following rivers flows from India to Pakistan?

fafafEa afeal 7 @ et @t 78t TRa § fFAarcte mifthear & vl 872
Options:
1) Satluj

Hagst

2) Ghaghra
HTERT

3) Betwa
st

4) Tapi
ardt

Correct Answer: Satluj
Candidate Answer: Satluj

Heegst

QID : 251 - What least number must be added to 4131, so that the sum is completely divisible by 19?

4131 # & T YTaH T Y ST ST A1y, dTich ag AR 19 J Il =g & o g7
Options:

1) 10

2) 11

3)9

4)12

Correct Answer: 11

Candidate Answer: 11

QID : 252 - A, B and C can finish a job working alone in 12, 8 and 24 days respectively. In how many days they can finish the job if they worked together?

A, B R C foreft avrf oY Srchet shART: 12, 8 iR 24 AT A qr1 e Tend! 1 afS & Ueh I i ahed & at 99 i ot e ol # O R ket 87
Options:

Correct Answer: 4
Candidate Answer: 4

QID : 253 - What is the area (in sq cm) of an equilateral triangle of side 14 cm?

14 8.7, ST aTet GaTg FHentor a1 &i=the (a7 4.7 #) o= ghm?

Options:

1) 49v3

2) 98v3

3) (49/2)v3

4) (49/4)v3

Correct Answer: 49v3
Candidate Answer: 49v3

QID : 254 - What is the effective discount (in %) on two successive discounts of 20% and 10%?

20% 3R 10% T TR & Fe TR T e (% H) 1 ghi?
Options:

1) 30

2)32

3)35

4)28

Correct Answer: 28

Candidate Answer: 28
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QID : 255 - Profit of Rs 1,03,500 has to be divided between three partners A, B and C in the ratio 11:7:5. How much amount (in Rs) does B get?

1,03,500 % &1 &1 11:7:5 & 3rgrd & i 9mfieri A, B ok C & st fwnfSia foran S 1 B ot e areft af?y (= 8) foat ghfi?

Options:

1) 22,500

2) 49,500

3) 50,500

4) 31,500

Correct Answer: 31,500
Candidate Answer: 31,500

QID : 256 - The average weight of P, Q and R is 45 kg. If the average weight of P and Q be 36.5 kg and that of Q and R be 52 kg, then what is the weight (in kgs) of Q?

P, Q 3R R &1 3fied awr 45 f.am. 81 3 P ik Q &1 aftard i 36.5 for.am. & 8 Q SR R &1 offad awie 52 fh.am. 8, af Q &1 awr (foh.om &) fhamm 82
Options:

Correct Answer: 42
Candidate Answer: 42

QID : 257 - A shopkeeper by selling 21 items earns a profit equal to the selling price of 1 item. What is his profit percentage?

21 I Y SRR Goh GHMGR 1 I &l Iehl qed & SRTER AT HATCH &1 ITehT A1 Tfer e 82

Options:

1)5.5

2)2.2

3)2

4)5

Correct Answer: 5
Candidate Answer: 5

QID : 258 - What is the value of 10% of 150% of 400?

400 % 150% & 10% o1 T 471 87

Options:

1) 600

2) 50

3) 500

4) 60

Correct Answer: 60
Candidate Answer: 60

QID : 259 - To cover a distance of 144 km in 3.2 hours what should be the average speed of the car in meters/second?

144 foreieier i gt Y 3.2 ©¢ & 97 o & forg Hiez / Geve | o aht sitwra fer o-m gt =nfee?

Options:

1)12.5

2)10

3)7.5

4)15

Correct Answer: 12.5
Candidate Answer: 12.5

QID : 260 - If in 2 years at simple interest the principal increases by 18%, what will be the compound interest (in Rs) earned on Rs 7000 in 3 years at the same rate?

3R 2 IuT H HTYRUT ATST & &R & JAe 18% & I6aT 8, af 7000 & R 3 IuT # I &R W AT Tehgfg saret (¥ ) &1 gim?

Options:

1) 1865.2

2) 2065.2

3) 1965.2

4) 1765.2

Correct Answer: 2065.2

Candidate Answer: 2065.2

QID : 261 - If x/3 - [5(7x/5 - 4/3)]/2 = -x/6, then what is the value of x?

e x/3 - [5(7x/5 - 4/3)]/2 = -x/6, Tt x HT A HIT &7
Options:

1) 10/9

2)-10/9

3)-9/10

4)9/10

Correct Answer: 10/9
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Candidate Answer: 10/9

QID:262-If a3+ b3 =19 and a + b = 1, then what is the value of ab?

gz ad+b3=193Ra+b=18 d abw A= FTR?
Options:

15

2)-6

3)7

4)-9

Correct Answer: -6

Candidate Answer: -6

QID : 263 - A fraction is greater than its reciprocal by (72)/(77). What is the fraction?

e T ST eshd © (72)/(77) & 3ifdes &1 ag faa i &2

Options:

1) 7/11

2)11/7

3)4/7

4)7/4

Correct Answer: 11/7
Candidate Answer: 11/7

QID : 264 - What is the sum of the first 12 terms of an arithmetic progression if the first term is -19 and last term is 36?

eh IR oft & g 12 gl st Al o ghm, afe; uger ug -19 § oik sifaw ug 36 &1

Options:
1) 192
2) 230
3) 102
4) 214

Correct Answer: 102
Candidate Answer: [ NOT ANSWERED ]

QID : 265 - What is the reflection of the point (-2, 5) in the line x =-1?

@ x = -1 § fdg (-2, 5) @1 ufafee e &2
Options:

1)(-2,-7)

2)(0,5)

3)(2,5)

4)(-2,7)

Correct Answer: (0, 5)

Candidate Answer: (2, 5)

QID : 266 - Point P is the midpoint of segment AB. Co-ordinates of P are (3, 1) and B are (5, -4). What are the co-ordinates of point A?

foig P Y@rds AB &1 #eF foig 81 P o fdarian (3, 1) & 3R B & (5, -4) 81 faig A & Mdariar s &2
Options:

1)(-1,7)

2)(1,-7)

3)(1,6)

4)(-1,-7)

Correct Answer: (1, 6)

Candidate Answer: (1, 6)

QID : 267 - What is the slope of the line perpendicular to the line passing through the points (-5, 1) and (-2, 0)?

(-5, 1) 3R (-2, 0) feigafi & mreaw § oA areft F@1 & dwrad @1 6 el T 8?2
Options:

1)-3

2)3

3)-1/3

4)1/3

Correct Answer: -1/3

Candidate Answer: -3

QID : 268 - AABC is similar to APQR. If ratio of perimeter of AABC : perimeter of APQR is 5:9 and if PQ = 45 cm, then the length of AB (in cm) is?

AABC 3R APQR T& 99 €1 afe AABC &t uRfdy : APQR &t aRRf& & erqura 5:9 & ok afg PQ = 45 §.5. &, at AB & wiard (3.1, #) fohaht 82
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Options:
1)15
2) 20
3)25
4)16
Correct Answer: 25
Candidate Answer: 25

QID : 269 - What is the value of (1/v2) Cot 45° + (1/v3) Cosec 60°?

(1/¥2) Cot 45° + (1/¥3) Cosec 60° T HT HIT &?

Options:

1) (V6 +1)/v3
2) V3

3) (1+3v2)/v3
4) (3+2v2)/3V2

Correct Answer: (3 + 2v2)/3v2
Candidate Answer: (3 + 2v2)/3v2

QID : 270 - A ABC is right angled at B. If m2A = 60°, then what is the value of sec C.sin A?

A ABC, B TR 9HehIUT &1 afd m£A = 60° &, af sec C.sin A &1 9 T 8?
Options:

1) 2/V3

2) v3/2

3) 2/3

41

Correct Answer: 1

Candidate Answer: 1

QID : 271 - If Tan 8 = 7/24, then what is the value of Sec 8?

af& Tan 0 = 7/24, @t Sec 8 &1 | T §IT?

Options:
1) 24/25
2) 24/7
3) 25/7
4) 25/24

Correct Answer: 25/24
Candidate Answer: 25/24

QID:272-
The pie chart shows tickets sold {in 1000s) per month bysix different

airlines (A, B, C, D, E, F). Study the diagram and answer the
following questions.

gr$ a1 OF Wea-Best TIIESH (A, 8, 60, € F) ZarT 9
AE a9 IW ared & @A) e &1 s &
g Y AR PAFafaf@a weal &1 3caw )

Which airline sold the second highest number of tickets?

feenct & gt wad Sifren fareht e ATt QaRetTsd @i 31 87
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Options:

Correct Answer: E
Candidate Answer: E

QID : 273 -
The pie chart shows tickets sold (in 1000s) per month by six different

airlines (A, B, C, D, E, F). Study the diagram and answer the
following questions.

qr¥ a1 oF Moo Ca@s=w (4,8, ¢, 0, F) AT 93
B A I A REE oY A) zeffar 81 58 3w
vy #Y MR Arafaf@a weat &1 3cav )

Airline E sold how many more tickets than Airline A?

QIRATE E 3 QaReTg A &1 g1 8 fohat a1fdres feend =2
Options:

Correct Answer: 20
Candidate Answer: 20
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QID: 274 -

The pie chart shows tickets sold (in 1000s) per month by six different

airlines (A, B, C, D, E, F). Study the diagram and answer the
following questions.

qi¥ e oF Mea-Mea vaas=w (4,8, ¢, 0, F) ZaRT 93

B a9 I areh RaE gl #) gufar &) s e @
yeggs Y AR PFafaf@a et & 3t &)

The ratio of tickets sold by Airlines A and D to tickets sold by Airline E is?

TIRATEH A 3R D gR1 =t £ feenet ol qaretts E gRT it 718 feepel & srgurd foramm &2
Options:

Correct Answer: 4 : 3
Candidate Answer: 4 : 3

QID : 275 -

The pie chart shows tickets sold (in 1000s) per month by six different

airlines (A, B, C, D, E, F). Study the diagram and answer the
following questions.

qr$ ai¢ oF e caassy (A8, C D, € F) ZarT 9

G a0 IW are Rae gl 7). afar 81 5w 3w &
g Y AR rafaf@a gl &1 3eaw 2

If the price of an airline ticket is Rs 7000 then by what amount, monthly Revenue (in Rs. Millions) from sale of tickets of Airline B is greater than that of Airline E?

I Ueh qaRens feene Y fimd 7000 % & aY GReTE B g1 S S arelt eenel @ g3 w1flieh WoTed (39 @G % H) TaReTsH E 3 Hehreet fha-t aifdres ghft?
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Options:
1) 77
2)7
3)35
4) 42
Correct Answer: 35
Candidate Answer: 35

QID : 276 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

She was so (1)/ near to (2)/ achieving her goal. (3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 2

QID : 277 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

He watched as fights (1)/ broke out (2)/ along the city. (3)/No Error (4)
Options:

Correct Answer: 3
Candidate Answer: 3

QID : 278 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Everyone was pleased to learn the actor would his role as the captivating pirate.
Options:

1) reprise

2) rescue

3) save

4) free

Correct Answer: reprise

Candidate Answer: [ NOT ANSWERED ]

QID : 279 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The diamond necklace was too extravagant for a simple dinner party.
Options:

1) distance

2) long

3) very much

4) far

Correct Answer: far
Candidate Answer: far

QID : 280 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Fallacy

Options:

1) Conformity

2) Surety

3) Bias

4) Evidence

Correct Answer: Bias

Candidate Answer: Bias

QID : 281 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

To reproach
Options:

1) To commend
2) To laud

3) To exonerate
4) To admonish

Correct Answer: To admonish
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Candidate Answer: To commend

QID : 282 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Veneration
Options:

1) Adoration
2) Contempt
3) Reverence
4) Admiration

Correct Answer: Contempt
Candidate Answer: [ NOT ANSWERED ]|

QID : 283 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Impugnable

Options:

1) Dicey

2) Debatable

3) Indubious

4) Hazy

Correct Answer: Indubious

Candidate Answer: [ NOT ANSWERED ]

QID : 284 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To hit the nail on the head

Options:

1) To take out frustration by beating a person
2) To make a wrong decision

3) To find exactly the right answer

4) To unwittingly fall into a trap

Correct Answer: To find exactly the right answer
Candidate Answer: To find exactly the right answer

QID : 285 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

On thinice

Options:

1) To keep failing after repeated efforts

2) To endure a harsh winter

3) To keep one's cool even in a tough situation
4) In a precarious or risky situation

Correct Answer: In a precarious or risky situation
Candidate Answer: In a precarious or risky situation

QID : 286 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

All (was surprising) to find that he was not with them.
Options:

1) was surprised

2) were surprised

3) is surprised

4) no improvement

Correct Answer: were surprised

Candidate Answer: were surprised

QID : 287 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

Read in order (become) wise.
Options:

1) to have to be

2) to have become

3) to become

4) no improvement

Correct Answer: to become
Candidate Answer: to become

QID : 288 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Showing strong feeling
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Options:

1) Meek

2) Vehement

3) Apathetic

4) Impotent

Correct Answer: Vehement

Candidate Answer: Apathetic

QID : 289 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

A sheath for the blade of a sword
Options:

1) Scabbard

2) Denude

3) Divulge

4) Expose

Correct Answer: Scabbard

Candidate Answer: [ NOT ANSWERED ]

QID : 290 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Litegants

2) Litigents

3) Litigants

4) Litegents

Correct Answer: Litigants

Candidate Answer: Litigents

QID : 291 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Stoically

2) Stoicaly

3) Stoecally

4) Stoecaly

Correct Answer: Stoically
Candidate Answer: Stoically

QID : 292 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

The space in front of the large
X-hut was empty, but
Y-placed several stools
Z-before it were
Options:

1) XYZ

2) XzY

3) ZYX

4) ZXY

Correct Answer: XZY
Candidate Answer: XYZ

QID : 293 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

From our common experience
X-of the relation of the
Y-mental he starts out
Z-physical and the

Options:

1) XYZ

2) XZY

3) ZYX

4) ZXY

Correct Answer: XZY

Candidate Answer: XZY

QID : 294 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

The maid vacuums and dusts the house every day.

Options:

1) Every day the house is vacuumed and dusted by the maid.

2) Every day the house were vacuumed and dusted by the maid.

3) Dusting and Vacuuming of the house every day is being done by the maid.
4) Dusting and Vacuuming of the house every day was being done by the maid.

Correct Answer: Every day the house is vacuumed and dusted by the maid.
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Candidate Answer: Every day the house is vacuumed and dusted by the maid.

QID : 295 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Indirect/Direct speech.

The spectators said, "Bravo! Good hit, Jay!"

Options:

1) The spectators applauded Jay for his good hit.

2) The spectators applauded Jay saying, bravo, good hit Jay.

3) The spectators applaud Jay for his good hit.

4) The spectators applaud Jay saying, bravo, good hit Jay.
Correct Answer: The spectators applauded Jay for his good hit.

Candidate Answer: The spectators applauded Jay for his good hit.

QID : 296 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

And then, a few glorious minutes , it was time to reluctantly head ashore. time, the strokes were more fluid, the movements more
relaxed. | turned back one last time hello to a clown fish, the reason why | came to the Andamans. As | watched, it played hide-and-seek E
sea anemone, before frisking away. Suddenly, | realised a kinship with the blue waters the Bay of Bengal.

a few glorious minutes , it was time to reluctantly head ashore.
Options:

1) late

2) later

3) lately

4) latest

Correct Answer: later

Candidate Answer: later

QID : 297 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

And then, a few glorious minutes , it was time to reluctantly head ashore. time, the strokes were more fluid, the movements more
relaxed. | turned back one last time hello to a clown fish, the reason why | came to the Andamans. As | watched, it played hide-and-seek a
sea anemone, before frisking away. Suddenly, | realised a kinship with the blue waters the Bay of Bengal.

time, the strokes were more fluid
Options:
1) These
2) Those
3) At
4) This
Correct Answer: This
Candidate Answer: This

QID : 298 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

And then, a few glorious minutes ______ it was time to reluctantly head ashore. ________ time, the strokes were more fluid, the movements more
relaxed. | turned back one last time hello to a clown fish, the reason why | came to the Andamans. As | watched, it played hide-and-seek a
sea anemone, before frisking away. Suddenly, | realised a kinship with the blue waters the Bay of Bengal.

I turned back one lasttime_________ hello to a clown fish, the reason
Options:

1) to say

2) said

3) saying

4) says

Correct Answer: to say

Candidate Answer: to say

QID : 299 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

And then, a few glorious minutes _______ it was time to reluctantly head ashore. ___________ time, the strokes were more fluid, the movements more
relaxed. | turned back one last time hello to a clown fish, the reason why | came to the Andamans. As | watched, it played hide-and-seek a
sea anemone, before frisking away. Suddenly, | realised a kinship with the blue waters the Bay of Bengal.

hide-and-seek a sea anemone, before frisking away.
Options:

1) to

2) for

3) from

4) with

Correct Answer: with

Candidate Answer: with
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QID : 300 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

And then, a few glorious minutes , it was time to reluctantly head ashore. time, the strokes were more fluid, the movements more
relaxed. | turned back one last time hello to a clown fish, the reason why | came to the Andamans. As | watched, it played hide-and-seek a
sea anemone, before frisking away. Suddenly, | realised a kinship with the bluewaters __________ the Bay of Bengal.

kinship with the blue waters the Bay of Bengal.
Options:

1) for

2) from

3) to

4) of

Correct Answer: of

Candidate Answer: of
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